

PLEASE REMIT TO

Accounting Office 206 W Julie Dr STE 104 Tempe AZ 85283 Spokane Facility 1405 N Ash St Spokane WA 99201 Phone (800) 301-1347

Jun 1/23/29

Lake County (IL) Treasurer 18 N County St RM 102 Waukegan, IL 60085

Griselda NET 30

Mailing

Oliscida INEL 30				
Item	Description QTY		Rate	Amount
Insert & Mail	Mailing Services For Annual Tax Mailing	254,596	0.049	12,475.20
Data Processing	Reprocess mail file due to defective data	1	120.00	120.00
Data Processing	0	0	0.00	0.00
eNotice Regist	Registered accounts on eNotices for viewing	8,523	0.12	1,022.76
eNotice Uploa	Upload PDF images to eNotices Website	263,119	0.005	1,315.60
PDF's - one lar	One Batched File(s) of Non-indexed PDF	263,119	0.00	0.00
IMb Trace	images - Front Only - no charge IMB mail tracking for each outgoing account	263,119	0.005	1,315.60
Data Processing	Data Process - Create Print image file	1.5	80.00	120.00
Data Frocessing	mage me	1.5	80.00	120.00
9 x 12 large w	9 x 12 Large Envelopes for Multiple Records	111	0.75	83.25
Imaging 60# S	Tax Statement	254,596	0.047	11,966.01
ENVELOPES	CUSTOM #9 Reply Envelopes (2 of 2)	221,058	0.00	0.00
ENVELOPES	CUSTOM #9 Reply Envelopes (1 of 2)	455,090	0.035	15,928.15
ENVELOPES	CUSTOM #10 IMB Window Mailing Envelopes	229,207	0.041	9,397.49
SHIPPING	Physical Samples for Scan Tests Bank Tracking: 1Z4X74V00119336253 Treasurer Tracking: 1Z4X74V00125509457	1	58.20	58.20
SHIPPING	USPS Priority Mail g47 unmailable	1	10.10	10.10
THANK YOU FOR USING THE MASTER'S TOUCH MAILING SERVICES				\$53,812.36



## **Postage Reconciliation**

DATE

INVOICE NO.

4/29/2025

P94400

Lake County (IL) Treasurer 18 N County St RM 102 Waukegan, IL 60085



Lake County (IL) Treasurer Annual Tax Mailing

Griselda

**PAID** 

Item	Description	QTY	Rate	Amount
Single Piece	Customer Prepaid Postage: \$144,585.92  Presorted First-Class Postage Full Fare First-Class: Reg/Flats/Parcels Foreign Postage eNotice Do not Print - Deliver via eNotice.com: 7,272 Non-Mailable Address: 10  Customer Credit Balance: \$21,759.44	219,980 2,035 21	0.54779 1.12261 1.89476	120,502.18 2,284.51 39.79
	-		Postage Total	\$122,826.48
			Payments	-\$122,826.48
			Balance Due	\$0.00

PLEASE REMIT TO

Accounting Office 206 W Julie Dr STE 104 Tempe AZ 85283 Spokane Facility 1405 N Ash St Spokane WA 99201 Phone (800) 301-1347

Lake County (IL) Treasurer 18 N County St RM 102 Waukegan, IL 60085

Griselda	NET 30		197	Mailing
Item	Description QT		Rate	Amount
Insert & Mail	Mailing Services For Mobile Home Tax Statements	4,800	0.13	624.00
ENVELOPES	CUSTOM #10 Window envelopes (Bill W/Mail SVC)	5,000	0.00	0.00
Imaging 60# S	Mobile Home Tax Bills - FROM DATA	4,800	0.069	331.20
ENVELOPES	CUSTOM #9 Customer Reply Envelope for MH Tax	4,950	0.064	316.80
eNotice Regist	Registered accounts on eNotices for viewing	185	0.14	25.90
eNotice Uploa	Upload PDF images to eNotices Website	4,985	0.015	74.78
SHIPPING	Physical Samples for Scan Tests - UPS Tracking: 1Z4X74V00125143655	1	33.88	33.88
		28		
	St D			
I ГНАNK YOU FC	OR USING THE MASTER'S TOUCH MAILING S	ERVICES	TOTAL	\$1,406.56



## **Postage Reconciliation**

DATE

INVOICE NO.

5/13/2025

P94691

Lake County (IL) Treasurer 18 N County St RM 102 Waukegan, IL 60085



Lake County (IL) Treasurer Mobile Home Tax Statements

Griselda Due o

Due on Receipt

Item	Description	QTY	Rate	Amount
	Customer Prepaid Postage: \$21,759.44			
	Presorted First-Class Postage Full Fare First-Class: Reg/Flats/Parcels eNotice Do not Print - Deliver via eNotice.com: 182	4,666 39	0.54656 1.05308	2,550.26 41.07
	Customer Credit Balance: \$19,168.11			
		.,		
			Postage Total	\$2,591.33
			Payments	-\$2,591.33
			Balance Due	\$0.00



PLEASE REMIT TO: Spokane Headquarters 1405 N Ash St Spokane WA 99201-2805 Phone (509) 326-7475

**Arizona Branch Office** 132 W Julie Dr Tempe AZ 85283

Phone (800) 301-1347

**Hawail Branch Office** Phone (800) 301-1347

DATE

INVOICE NO.

10/22/2024

**Invoice** 

92126

BILL TO

Lake County (IL) Treasurer 18 N County St RM 102 Waukegan, IL 60085

Please pay from this invoice. No statement will be sent.

P.O. NO	D. TERMS SHIP DATE	SHIP VIA	FOB	FACTORY #
	NET 30			Mailing
ITEM	DESCRIPTION	QTY	RATE	AMOUNT
Insert & Mail	Mailing Services For Certified Delinquent Tax Statements	10,173	0.112	1,139.38
Inline Insert Imaging 60# S #10 Certified ENVELOPES	Certified Mail Flysheet with certified data DQ Tax Notice #10 Certified Envelope #9 Envelope	10,173 10,173 10,173 11,000	0.04 0.045 0.17 0.053	406.92 457.79 1,729.41 583.00
eNotice Uploa	Full PDF file - No Charge eNotices Upload eNotices - Registered Parcels	10,173 10,173 545	0.00 0.01 0.015	0.00 101.73 8.18

Hellyklin 10/29/24

THANK YOU FOR USING THE MASTER'S TOUCH MAILING SERVICES

Total

\$4,426.41



**PLEASE REMIT TO:** Spokane Headquarters 1405 N Ash St Spokane WA 99201-2805 Phone (509) 326-7475

**Arizona Branch Office** 132 W Julie Dr Tempe AZ 85283 Phone (800) 301-1347

Hawaii Branch Office Phone (800) 301-1347

DATE

INVOICE NO.

10/17/2024

**Postage Reconciliation** 

P92126

BILL TO

Lake County (IL) Treasurer 18 N County St RM 102 Waukegan, IL 60085

Lake County (IL) Treasurer Certified Delinquent Tax Statements

Please pay from this invoice. No statement will be sent.

P.O. NO	). TERMS	SHIP DATE	SHIP VIA	FOB	FACTORY #
	PAID				
ITEM	DESCRIP	TION	QTY	RATE	AMOUNT
	Customer Prepaid Postage: \$5	58,760.88			
_	Certified Postage Foreign Postage		10,171 2	5.54 1.65	56,347.34 3.30
	Customer Credit Balance: \$ 2	,410.24			

\$56,350.64

Payments Applied

-\$56,350.64

THANK YOU FOR USING THE MASTER'S TOUCH MAILING SERVICES

\$0.00

Total